



No. N8A 003137 0015 Rev. 00

Holder of Certificate: Shenzhen Anthy Electronics Co., Ltd.

4/F, Building E, Lianchuang Industrial Park Tanggian Village, Zhangge, Guanlan

Longhua New District 518110 Shenzhen

PEOPLE'S REPUBLIC OF CHINA

Product: Adaptors

(AC ADAPTER)

This Attestation of Conformity is issued on a voluntary basis according to the Low Voltage Directive 2014/35/EU relating to electrical equipment designed for use within certain voltage limits. It confirms that the listed equipment complies with the principal protection requirements of the directive and is based on the technical specifications applicable at the time of issuance. It refers only to the particular sample submitted for testing and certification. For details see: www.tuvsud.com/ps-cert

Test report no.: 652102209001

Date, 2022-10-20

(Rickyet Wang)



After preparation of the necessary technical documentation as well as the EU declaration of conformity the required CE marking can be affixed on the product. The declaration of conformity is issued under the sole responsibility of the manufacturer. Other relevant EU-directives have to be observed.







No. N8A 003137 0015 Rev. 00

Model(s): AF04-xxxyyy, AFUA04-K011, AF-045PD, AF1485305,

AE-30, AE-45, AE45

(xxx=140-200 denote rated output voltage range from 14.0VDC to 20.0VDC; yyy=001-310 denote rated output current range from 0.01A to 3.10A.)

Parameters:

Rated Input: 100-240VAC, 50-60Hz, 1.5A Rated Output: See below table for details

Protection Class: II Degree of Protection: IP20

Tested according to:

EN 62368-1:2014/A11:2017







No. N8A 003137 0015 Rev. 00

Model	Rated output voltage range (VDC)	Rated output current range (A)	Max. rated output power (W)
AF04-xxxyyy	14.0	0.01-3.00	42.00
	14.5	0.01-3.10	44.95
	15.0	0.01-3.00	45.00
	16.0	0.01-2.80	44.80
	18.0	0.01-2.50	45.00
	19.0	0.01-2.37	45.03
	19.5	0.01-2.31	45.05
	20.0	0.01-2.25	45.00
AF1485305	14.85	3.05	45.29
AFUA04-K011	9.5	3.00	28.50
	10.0	3.00	30.00
	10.5	3.00	31.50
	11.0	3.00	33.00
	11.5	3.00	34.50
	12.0	3.00	36.00
	12.5	3.00	37.50
	13.0	3.00	39.00
	13.5	3.00	40.50
	14.0	3.00	42.00
	14.5	3.00	43.50
	15.0	3.00	45.00
	15.5	2.90	44.95
	16.0	2.80	44.80
	16.5	2.73	45.05
	17.0	2.64	44.88
	17.5	2.57	44.98
	18.0	2.50	45.00
	18.5	2.43	44.96
	19.0	2.37	45.03

Page 3 of 4

After preparation of the necessary technical documentation as well as the EU declaration of conformity the required CE marking can be affixed on the product. The declaration of conformity is issued under the sole responsibility of the manufacturer. Other relevant EU-directives have to be observed.







No. N8A 003137 0015 Rev. 00

	19.5	2.31	45.05
	20.0	2.25	45.00
AF-045PD	5.0	3.00	15.00
	9.0	3.00	27.00
	12.0	3.00	36.00
	15.0	3.00	45.00
	18.0	2.25	40.50
	20.0	2.25	45.00
AE-30	5.0	3.00	15.00
	9.0	3.00	27.00
	12.0	2.50	30.00
	15.0	2.00	30.00
	20.0	1.50	30.00
AE-45	14.5	3.10	44.95
AE45	14.85	3.05	45.29



After preparation of the necessary technical documentation as well as the EU declaration of conformity the required CE marking can be affixed on the product. The declaration of conformity is issued under the sole responsibility of the manufacturer. Other relevant EU-directives have to be observed.

